November 21, 2023 8:46 AM Trager's factorization algorithm. 1976 Suppose $f \in \mathcal{D}(\alpha)[\alpha]$ B monic. $f \in \mathbb{Q}(x)[X] \xrightarrow{\text{factor}} f_1 \cdot f_2 \cdots f_k$ $\downarrow N$ $\uparrow : gcd(f, hi)?$ $h \in \mathbb{Q}[X] \xrightarrow{\text{factor}} b \in \mathbb{Q}[X] \xrightarrow{\text{hi}} h_2 \cdots h \ell.$ Idea: Del. Let fek(x), hafield. f is square-fee if \$ bekix s.t. deg(b) >0 and b2+f. Lemma. $f \ I \ square-free \iff \gcd(f(x),f'(x)) \neq 1$. Suppose f(x,x) I squae-free. Compute $N(f(x,x)) = res(m(z), f(x,z)) \in Q[X]$. Factor N(f) ove Q-[Lemma | (v) $deg(N(f)) = deg(m, z) \cdot deg(f, x) \rightarrow b(ourup.]$ Therem 8.16 If f(x,x) I irreducible over Q(x) then N(f) is a power of an irreducible poly over Q. \Rightarrow If $f(x,\alpha) = f_1(x,\alpha) \cdot \cdots \cdot f_R(x,\alpha)$ where f_i are medicible over Hen $N(f) = N(f_1) \cdot N(f_2) \cdot \cdots \cdot N(f_R) \Rightarrow$ The factorization of N(f) has at most to factorio. Suppose N(f) is also square free as in example D. Than N(f) has k wreducible factors wer Q. I.e. $N(f) = N(f_1) \cdot N(f_2) \cdot ... \cdot N(f_R)$ gi. gz. ga = irreducible.

But. $f_i(x_{|x|}) \mid N(f_i) \Rightarrow f(x_{|x|}) = \prod_{i=1}^{K} gcd(f_i,g_i)$ LI(iii) monic (=) monic. factors d. $N(f_i)$.

E.g. () $gcd(f(x|x)) = (x+vz)(x+vz+vz), x^2z = (x-vz)(x+vz)) = x+vz=f_1$ $gcd(f(x|x)) = x^2+zx-v) = x+vz+vz$

This god is computed in $\mathbb{R}(\alpha)[X] \cong [\mathbb{O}[\mathbb{Z}]/m(\mathbb{Z})[X]$.

One can devise a modular gcd algoritm that uses to Chinse remainder Thomas and rational reconstruction.

Theorem 8:18. If $f(x,\alpha)$ is square-free then $N(f(x-s\alpha,\alpha))$ is square-free for all but finitely many $S \in C - S$ shift with $S \in Z$.

F.g. $\alpha = \sqrt{2}$ $f(x(-2\sqrt{2})\sqrt{2}) = (x(-2\sqrt{2})^{2} - 2$ $= \chi^{2} + \sqrt{2} \times + 8 - 2$ $= (\chi - \sqrt{2})(\chi - 3\sqrt{2}).$ Pick S = Z

 $X \to X - 2\sqrt{2}$ $N(f(x-2\sqrt{2},\sqrt{2})) = res(m(z),(x-2z)^2-2)$ which is S.F. $= x^4 = 20x^2 + 36$ factor over $Q = (x^2-2)(x^2-6)$.

 $gcd(f(x-2\sqrt{z}), x^2-z) = x-\sqrt{z}$ $\xrightarrow{x+\sqrt{z}}$ $gcd(f(x-2\sqrt{z}), x^2-18) = x-3\sqrt{z}$ \xrightarrow{x} $x \to x+2\sqrt{z}$

Ex. We resultants to characterize which $S \in \mathbb{Q}$ make $N(f(x-s\alpha,\alpha))$ not Square-Free.

Hint: Let $R=N(f)=\text{res}(m(z),f(x-sz,z))\in OD(s,x].$

R & NOT Square-free () gcd(R(x), R'(x)) = 1. (R(x), R'(x), x') = 0.62[S]. Proof A Th 8:18. Lemma Z. If $f \in \mathbb{Q}[x]$ and $f \boxtimes square-free Then$ the we only a finite number of $s \in \mathcal{Q}$ s.t. f(x-sa, x) is NOT square-free. Prov. Let the roots of f(x) be B1,B2,...,Bm E C. The Bis are distinct as f is square-hee. =) The roots of f(x-sa) are B1+sa, B2+sa, ..., Batsa. Let the roots of m(2) be disasing and. Let E(x) = N(f(x-sa)) = T f(x-sai). So ther roots of E(x) are Bj+Soic Isised, Isisem. E(x) I NOT square-tree => E(x) has multiple roots $i=l\Leftrightarrow j=k$ \Longrightarrow $\beta_j+S\alpha_i=\beta_k+S\alpha_l$.

 $\Rightarrow S = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$ $\Rightarrow \int_{\mathbb{R}^{2}} \mathbb{R}^{2} = \frac{\beta k - \beta s}{\alpha i - \alpha \ell}$

Lemma 3. If $f(x,\alpha)$ is square-free in $\mathcal{D}(\alpha)[x]$ then $\exists g(\alpha) \in \mathcal{D}[x]$ s.t. $f(x,\alpha)[g(\alpha)]$ and $g(\alpha)$ is square-free. Prov. Let $E(x) = N(f(x,\alpha)) \in \mathcal{D}(\alpha)$.
Let $T[g(\alpha)]$ be the square-factorization of $E(\alpha)$ in $\mathcal{D}(\beta)$. Now $f(x,x)|N(f(x,x)) = Tgi(x)^{i} \in D[x]$. But f is $S.F. \Rightarrow f|Tgi = g(x)$ which is S.F.Ex. In (3) $N(f) = (x^{2}z)(x^{4}z) \Rightarrow g(x) = (x^{2}z)(x^{4}z)$. Prof) of Th 8.18. Let g(x) be the polynomial in Learning S.By Lemma Z N(g(x-Sx)) is not S.F. for finitely many S.But $f(x,x)|g(x) \Rightarrow f(x-Sx)|g(x-Sx)$ $LI(in) \Rightarrow N(f(x-Sx))|N(g(x-Sx))|$. To not S.F. Line finitely many <math>S.As finitely many S.By Lemma S.